O.Efeln

TRECERO InipeR bk

4

6 —(-6) =
10° +(-1) =
2’ +8=

(-2 =10 =
(—8)* +6=
(—6)> +3 =
10" = (—1) =
10— (—6) =
10% + (=5) =

(-6)-5=

o
=

H #A:

(=9)° =(=5) =
(—5)° +5=
6’ —(—6) =
3 +(-9) =

(3 = (3)=
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o M o eI ed
e EpE me_
6* — (-6) = 222 12— (=9) = 10

10° +(=1) = 999 6> +(~9) = 207

22 +8=12

(—2)* — 10 = (—18)
(—8)* +6 =170
(—6)> +3 =39

10° = (-1)=2
10— (-6) = 16

107 + (=5) = 95

(—6) — 5= (~11)

(—7)° — 6= (—349)
(—7)* +6 =55

9 —3=726

(=9)° = (=5) = 86
(—5)* +5=130

6> —(—6) = 222

3 +(-9) =18

(3)° = (=3) = (-24)
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